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Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the guestions
* Answer all’ questlons i

Answer from either Optlon—A or Optlon—B

Answer either in English or in Assamese

OPTION—A .
[ History of Europe (1453-1815) ]

1. Answer the following questions.in one word or
one sentence : , . 1x10=10

SR PR TR bl = 1 ot T fiewn
(a) What is the meaning of Renaissance?
TERE e Ry

Crs

(b) Name a famous pamtmg of Leonardo da
Vinci.

ﬁmmﬁﬁaaﬂﬁﬂwﬁmmﬁm
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(3)

2. Answer the following questions in brief :

2x5=10
O PRI PR T i -

\ (@) Name the authors of Don Quixote and
Divine Comedy.




(2)

(¢) Who was John Calvin?

G I wifer 2

signed? as the Peace of Augsburg

Wmﬁwmmmmiﬁv

Who was the
Nationsp - au

@

(e)
thor of The Wealth of

Name the ryje ‘
A€ ruler of Fran .
the French Revolution :: la';:stghe' time of

bﬁbbmm .
| ﬁmmm’lﬂﬁk:{m

(9) In which year did the Bastille fall?

R 1 G 57 e

In which year were

signed? - the Treaties of Tilsit

T e—

(38)

2. Answer the following questions in brief :
' 2x5=10

oo eppTRe ogE e
(a) Name the authors of Don Quixote and
Divine Comedy.
e’ e el T o

foran

(b)) Mention two effects of the Renaissance in

Europe.-
LTS (N AR o1 2SR o |

(c) Who were the Jacobins?
&% RN (T SR 7

ame .two philosophers who inﬂuenced

(d N
lutionaries of 1789.

the French Revo
Squd T FA0 Re@PReR 87 g°R Al

m’fﬁimmw@w? L

Whel‘e was ﬂ]e Battle Of

aﬁ"ﬁﬁ@f@ma@q?

Name the i
sland
breathed his last. Where

mﬂﬁmmﬁmwﬁwamﬁmm
|
(ContinUed)

e

Waterloo fought?
0

Napoleon

8A/146

v e A o

(e) Mention two causes for the downfall of

Napoleon.

R o o1 IR TES F0
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(4) (5)
3. Write. sh ‘ , (b) Determine the causes and significance
fo‘llowinsg ?rt notes on . any., four of the . | of the geographical discoveries of the
5x4=2 i i
were faa R e viRGE o Core e - Medieval period.
(6). Zwingli ‘ ‘ TR SR SIRFERI AT AE I
o : : ey w411
(b) The Peace of .
. of Westphalia (1648) () Explain the circumstances leading to the
CRECF(oT! ifS B (Svsv) Reformation Movement in Europe.
(c) Reign of Terror | R R WEre TR ACTH 2R,
FEPHS ‘ T F0
(d) Role of intellectuals i
‘ . in the French ‘
Revolution of 1789 ' (d) Trace the different stages of Thirty Years’
b 5T T Res IR PR gl | War.
(¢) The Consulate ' ‘ fopr 2w 733 RS TemE T 79
ft Fpees
() Administrati (e) What were the social and political causes
ﬂt’ﬂﬁ;i Wat-“’e reforms of Napoleon ) of the French Revolutionpof 17897
W saps TN FAM R R oF AT

o R 6 =i 2
4. Answer any four of the following questions' :

10x4=40 (N Critically assess the Continental System

SR PTRA R @I i B
; o . of Napoleon Bonaparte.
D. S 1 ‘e
! @ R;ic;::anﬂ‘e main features of the et @AY T T GF
: nee SR YR 41 |
IR 1 GREPIR ST w4
8A/146 8A/146 ( Turn Over )
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(6 ) \ (&)
\
(9 Do you agree that the Spanish and ‘ opTiION—B

( Russian invasions ruined Napoleon? [ History of Europe (1815-1939) ]

i 5 ""‘%"*W ST Ao oo

W " 1. Answer the following questions in one wor;ixolro_lo

| ; one sentence : -
() Discuss th_eaim j WWWQﬁWmmWW:

Cooeges ni‘q%:n:nd objectives of the

initiative for the Holy Alliance.
“f¥q pfee Tl 2z ¥ TRIR TEEH A
foran 1

A SVt o was the ruler of France at the time
of July Reyolution of 18307

ool ety R Stre FEE SED P

] (aq) Name the Russian Czar who took
!

\did Louis Philippe abdicate
{rance?

bl Ficzem o #fifes 2

.‘\_\Q
L

PTreaty that ended the



B |

te) (7))

| (99 Do you agree that
| jou t .the Spani
Russian invasions ruined N:polesolzl?and

R wF R
R N ERT CRARRR oo

OPTION—B
[ History of Europe (1815-1939) ]

. Answer the following questions in one word or
one sentence : . 1x10=10

| (h) Discuss the aj .
aims and ohiecs: .
| Congress of Vienng, d objectives of the | 23 AHA Teq 9ot T A aﬁtam“\sﬁm :

ﬁm@mmwml - l. (@ Name the Russian Czar who took

initiative for the Holy Alliance.
oRe pfoe Tome o T IR THET AN
foran ‘

() Who was the ruler of France at the time
of July Revolution of 1830?

svoo T IR Reed TS FER ED (W
IR ?

(c) In which year did Louis Philippe abdicate
the throne of France? E

@ v 7% e Tl Bz el FiRiEE 2

(d) Name the Peace Treaty that ended the
Crimean War. R

8A/146
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(e) Who founded Young Italy?
Answer the following questions in brief : 2x5=10

(a) Name the two Houses of French

() In which year was the Franco-Prussian’ Parliament formed by Louis XVIIL

War f;
ar fought? V Wﬁmmwmww@wm

FIRCH- 250 Y@ T 57 Sufs Lafie 2 , ﬁ-m. .

I | () Mention two effects’ of the July

(9) Who were the members of the Revolution of 1830.

Triple Entente? | Sroo 5T R e 1 2ol frm

@ e’ wRsgadi

wifeer 2 TIRE FFRRIT | () Who was Garibaldi?

| ifRafs e e 7

(d) Write two important causes for the
outbreak of the First World War.

IR F1RTrE
\ I w1fee 2 mﬁw@vﬁmw‘ﬁ@mwn

(h) Who was Francis Ferdinand?

(e) What were the two major objectlves of the

) In which
. SIgned; year was the ’Pl'eaty of Versailles ] League of Naﬁons? .
| s S T 7 =fRE 2

3. Write short notes on any four of the

| () Name the US Prec:

] Pre )
! Fourteen POints,SIdent who proposed the g:;vg;l% qmﬁm 5x4=20
MR SRTERY (@) Metternich

G- T foray HICTRET |
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( 10 ) ( 11 )
(b) Charles X ' (c) Assess the role of Cavour .in the
™I B[ef5 ; Unification of Italy.
WA AT T i Rams 301

(0 Blgpd and Iron' Policy of Bismarck
’” .

T 75 W G AR | (d) Discuss the circumstances leading to the
d ' . Unification of Germany.
(d) Importance of the Reinsurance Treaty AR AT T N RER
| R-2Preca B wvy A F | -
(e) Russian Revclution of 1917 (e) Explain the circumferences leading to the
5551 599 3% Reg First World War. What were its effects?
() Fascism Cn g e RAbe @R SRE QAR
. PR, S 1 1 (R Taw oowean B &

wifRet 2

. Discuss the achievements of the League
Answer any four of the following questions : 4‘ @ of Nations. &
~ 10x

T PRI R e okt e ford TR FROPHR oA T4 |
(@) Z;h;; do you understand by the Concert| (9 . Give an account of the rise of Nazism in
faﬂurerope? Explain the causes of its Germany. -
e & @0 e R HIHRCTHT | :

FRAPTR I F4 |

(h) Assess the circumstances leading to the

(b) Discuss the causes of Second World War.

. th
Revolution of 1848 in Francee. rebruasy R RV RS Rwgs e (e O @bl
.)b'Bb' S FES (TR .
iy FFN Rey FRPIZ AT 3641 | .
e * Kk %
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